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1 package poo_unidade_11_ex02_produtorconsumidor;
2
3 import java.util_Random;

4
5
@
7
@public class Produtor implements Runnable {
9 private static Random generator = new Random();
@ private Buffer sharedlLocation;
11
12 public Produtor(Buffer sharedLocation) A
this.sharedLocation = sharedLocation;
}
@Ooverride
public void run(Q{
int sum = O;
for(int 1 = 1; 1 <= 10; i++){
try{
Thread.sleep(generator .nextInt(3000));
sharedLocation.set(i);
sum += 1i;
System.out.printf("\t\t %2d\n", sum);
]
catch(InterruptedException e){
e.printStackTrace();
]
}
System.out.printIn(C"'\nProdutor encerrou a producao.\n"
}
}
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